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Angular Deflection

The B field is assumed to be sinusoidal with period

Integrate once to find which is the horizontal angular 
deflection from the s axis

Therefore, the peak angular deflection is

Define the deflection parameter

(B0 in T, u in m)
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Undulator equation implications

The wavelength primarily depends on the period and the 
energy but also on K and the observation angle .

If we change B we can change . For this reason, undulators 
are built with smoothly adjustable B field. The amount of the 
adjustability sets the tuning range of the undulator.

Note. What happens to as B increases?

B0	
  =	
  750	
  G	
  
λu	
  =	
  0.4	
  m	
  
K	
  =	
  2.8	
  
	
  
E	
  =	
  0.5	
  GeV	
  =>	
  γ	
  =	
  1000	
  =>	
  λ =	
  1	
  µm	
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